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TRANSPORTATION IN PLANT

Textbook Questions Answers Choose The Correct

Answers

1. DPD of a fully turgid cell is equal to



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5Uj9kvz8w57H

A. DPD=10 atm, Op=5 atm,TP=10 atm

B. DPD=0 atm,0OP=10atm, TP=10 atm

C. DPD= 0 atm,0OP=5 atm,TP=10atm

D. DPD=20 atm,0OP=20 atm,TP=10 atm

Answer: B

o Watch Video Solution

2. Which among the following is correct ?
(i) apoplast is fastest and operate in non-living

part


https://dl.doubtnut.com/l/_5Uj9kvz8w57H
https://dl.doubtnut.com/l/_YRxKsnIhzpJC

(i) Transmembrane route includes vacuole
(i) symplast interconnect the nearby cell
through plasmadesmata
(iv) symplast and transmembrane route are in
living part of the cell

A. (i) and (ii) Only

B. (ii) and (iii) only

C. (iii) and (iv) only

D. All of these

Answer: C

| 8


https://dl.doubtnut.com/l/_YRxKsnIhzpJC

3. What type of transpiration is possible in the

xerophyte Opuntia ?

A. Stomatal

B. Lenticular

C. Cuticular

D. All the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YRxKsnIhzpJC
https://dl.doubtnut.com/l/_beY4YDkEAlJo

4. Stomata of a plant open due to

A. Influx of K *

B. Effluxof K

C.influxof Cl—

D. Influx of OH —

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_beY4YDkEAlJo
https://dl.doubtnut.com/l/_JB0sIXlEh7Zw
https://dl.doubtnut.com/l/_VLebOeITIyZ4

5. Munch hypothesis is based on

A. Translocation of food due to TP gradient

and imbibition force

B. Translocation of food due to TP

C. Translocation of food due to imbibition

force

D. None of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VLebOeITIyZ4

6. If the concentration of salt in the soil is too
high and the plants may wilt even if the field is

thoroughly irrigated. Explain.

o Watch Video Solution

7. How phoshorylase enzyme open the
stomata in starch sugar interconversion

theory ?

o Watch Video Solution



https://dl.doubtnut.com/l/_tG9Rn3sqybUG
https://dl.doubtnut.com/l/_dFmZFk0lU7YE
https://dl.doubtnut.com/l/_WAO1AQ3R9nVa

8. List out the non- photosynthetic parts of a

plant that need a supply of sucrose ?

A. Roots

B. Tubers

C. Developing fruits and

D. Immature leaves

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WAO1AQ3R9nVa

9. What are the parameters which control

water potential ?

° Watch Video Solution

10. An artificial cell made of selectively
permeable membrane is immersed in a beaker
(in the figure). Read the values and answer the

following questions.

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_NTw7CEKUyWev
https://dl.doubtnut.com/l/_Jv3ICKaVyrps

1. An artificial cell made of selectively
permeable membrane is immersed in a beaker
(in the figure). Read the values and answer the
following questions.

L.

L

o Watch Video Solution

12. An artificial cell made of selectively
permeable membrane is immersed in a beaker

(in the figure). Read the values and answer the


https://dl.doubtnut.com/l/_Jv3ICKaVyrps
https://dl.doubtnut.com/l/_wlK7aHwdW4Ri
https://dl.doubtnut.com/l/_FGOmefuMot4N

following questions.

&2

° Watch Video Solution

13. An artificial cell made of selectively
permeable membrane is immersed in a beaker
(in the figure). Read the values and answer the

following questions.

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_FGOmefuMot4N
https://dl.doubtnut.com/l/_P3vRm7zlYu6g
https://dl.doubtnut.com/l/_5HIr2ZoyEzQS

14. An artificial cell made of selectively
permeable membrane is immersed in a beaker
(in the figure). Read the values and answer the

following questions.

&2

° Watch Video Solution

Other Important Questions Answers | Choose

The Correct Answer

1. In plants,cell to cell transport is aided by:


https://dl.doubtnut.com/l/_5HIr2ZoyEzQS
https://dl.doubtnut.com/l/_FK5MGZ3A1tjH

A. Diffusion alone

B. osmosis alone

C. imbibition alone

D. All the three above

Answer: D

o Watch Video Solution

2.In passive transport:

A. No energy expenditure is required


https://dl.doubtnut.com/l/_FK5MGZ3A1tjH
https://dl.doubtnut.com/l/_RabIZzy9qIKU

B.No involvement of physical forces like

gravity

C.no involvement of physical forces like

gravity

D. No involvement of osmosis

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RabIZzy9qIKU

3. Which of the following statement are
correct?

(i) Cell membranes allow water and non polar
molecular to prmeate by simple diffusion.
(ii)Polar molecules like amino acids can also
diffuse through membrane.
(il)Smallermolecules diffuse faster than larger
molecules.

(iv)Larger molecules diffuse faster than

smaller molecules.

A. (i) and (iv) only


https://dl.doubtnut.com/l/_gxK6rTQrG0HY

B. (i) and (iii)Only

C.smaller molecules diffuse faster than

larger molecules

D. (ii) and (iv) only

Answer: B

o Watch Video Solution

4.n co-transport across membrane:


https://dl.doubtnut.com/l/_gxK6rTQrG0HY
https://dl.doubtnut.com/l/_zv10YoMpqv1Z

A. Two different molecules are transported

the same direction

B. Two type of molecules are transported

the same direction.

C.Three types of molecules are

transported in opposite direction.

D. Two type of molecules are transported in

all direction.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zv10YoMpqv1Z

5. The swelling of dry seeds is due to

phenomenon called:

A. Osmosis

B. Transpiration

C. imbibition

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zv10YoMpqv1Z
https://dl.doubtnut.com/l/_ex73cToOHx8B

6. The concept of water was introduced by:

A. Slatyer and Mosses

B. Slatyer and Taylor

C. Armusten and Taylor

D. Mosses and Robert

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4v0sKncNlhTP

7. At Strandard temperature the water

potential pure water is:

A. 1.0

B.—1.0

C.0.5

D. Zero

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RjnVUSbtfTzK
https://dl.doubtnut.com/l/_V3rtrloudLDp

8. Addition of solute to pure water:

A. Increases water potential

B. Does not charges water potential

C. decreases water potential

D. Does not change the gradient of water

potential

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_V3rtrloudLDp

9. Osmotic pressure is increased with:

A. Decrease of dissolved solute in the

solution

B. Increased of dissolved solutes in the

solution

C. increase of solvent in a solution

D. Isotonic condition of the solution

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xt02kXG2r43n

10. Diffusion Pressure Deficit (DPD) Was

termed by Meyer in:

A. 1928

B. 1828

C. 1936

D. 1938

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xt02kXG2r43n
https://dl.doubtnut.com/l/_57wfNkjK4FSK

11. The root hairs are:

A. Unicellular extensions of epidermal cells

with cuticle

B. Unicellular extensions of epidermal cells

with cuticle

C. Unicellular extensions of epidermal cells

without cuticle

D. None of the above

Answer: C



https://dl.doubtnut.com/l/_9IRE0Ktnz89j

‘ o Watch Video Solution

12. Kramer (1949) recognised two distinct

mechnisms,which independently operate in

the absorption of water in plants are:

A. Osmosis and diffusion

B. Imbibition and diffusion

C. diffusion and absorption

D. Active absorption and passive

absorption


https://dl.doubtnut.com/l/_9IRE0Ktnz89j
https://dl.doubtnut.com/l/_xbgfbCSyyo5U

Answer: D

o Watch Video Solution

13. Indicate the correct statements:

(1)The cell sap concentration in xylem is always
high.

(i))The cell sap concentration in xylem is not
always high.

(iii)root pressure is not universal in all plants

(iv)Roots pressure is univrsal in all plants.


https://dl.doubtnut.com/l/_xbgfbCSyyo5U
https://dl.doubtnut.com/l/_mHyDIlZSO1Sr

A. (i) and (iv)Only

B. (i1) and (iii)only

C. (i) and (iii)only

D. (ii) and (iv) only

Answer: B

o Watch Video Solution

14. When respiratory inhibitors like KCN

Chlorodorm are applied:


https://dl.doubtnut.com/l/_mHyDIlZSO1Sr
https://dl.doubtnut.com/l/_NsgmU1rzeBVk

A.There is a decrease in the rate of

respiration and increase in the rate of

absorption of absorption of water.

B. There is an increaase in the rate of

respiration and decrease in the rate of

absorption of water.

C.there is a decrease in the rate of

respiration and also decreases in the

rate of absorption


https://dl.doubtnut.com/l/_NsgmU1rzeBVk

D.There is an increase in the rate of

respiration and also in the rate of

absorption of water.

Answer: C

o Watch Video Solution

15. Relay pump theory was put forth by ......... :

A. ).C Bose

B. Godlewski


https://dl.doubtnut.com/l/_NsgmU1rzeBVk
https://dl.doubtnut.com/l/_QP8sDBDbSGGC

C. Stoking

D. Strasburger

Answer: B

° Watch Video Solution

16. Pulsation theory was proposed by

A. Strasburger

B. Godsey

C.J.C.Bose


https://dl.doubtnut.com/l/_QP8sDBDbSGGC
https://dl.doubtnut.com/l/_5SApdAJm9M79

D. C.V Raman

Answer: C

o Watch Video Solution

17. The term 'root pressure’ was coined by:

A. Strasburger

B. Stephen Hales

C. Amstrong

D. Overton


https://dl.doubtnut.com/l/_5SApdAJm9M79
https://dl.doubtnut.com/l/_CJC1e9xMSkZF

Answer: B

o Watch Video Solution

18. Indicate the correct statements:

(i)Roots pressure is absent in gymnosperms
(i)Roots pressure in totally absent in
angiosperms

(il))There is a relationship between the ascent
of sap and root pressure.

(iv)There is no relationship between the

ascent of sap and root pressure.


https://dl.doubtnut.com/l/_CJC1e9xMSkZF
https://dl.doubtnut.com/l/_rrI0TDNwxo8c

A. (i) and (ii)

B. (ii) and (iii)

C. (ii) and (iv)

D. (1) and (iv)

Answer: D

° Watch Video Solution

19. The capillary theory was suggested by :

A.Unger


https://dl.doubtnut.com/l/_rrI0TDNwxo8c
https://dl.doubtnut.com/l/_Nqk1U91NEiF3

B. J.C. Bose

C. Boehm

D. Sachs

Answer: C

o Watch Video Solution

20. Cohesion and transpiration pull theory was

originally proposed by:

A. Unger and Sachs


https://dl.doubtnut.com/l/_Nqk1U91NEiF3
https://dl.doubtnut.com/l/_nLS9TD4p0ykh

B. Xavier and Dixon

C. Boehm and Jolly

D. Dixon and Jolly

Answer: D

o Watch Video Solution

21. Loss of water from mesophyll cells causes:

A. Increases in water potential

B. Decrease in water porential


https://dl.doubtnut.com/l/_nLS9TD4p0ykh
https://dl.doubtnut.com/l/_iuaoMEfhegd8

C. Does not changes in water potential

D. None of tha above events

Answer: B

o Watch Video Solution

22. The water may move through the xylem at

the rate as fast as:

A. 65 cm/min

B. 85 cm/mibn


https://dl.doubtnut.com/l/_iuaoMEfhegd8
https://dl.doubtnut.com/l/_rrHxIjGm5WI2

C.75 cm/ min

D. 45 cm/min

Answer: C

o Watch Video Solution

23.The length and breadth of stomata is:

A. About 10-30 i and 2-10 u respectively
B. About 10-14 1 and 3-10 ‘mu respectively

C. about 10-40 © and 3-10 u respectively


https://dl.doubtnut.com/l/_rrHxIjGm5WI2
https://dl.doubtnut.com/l/_RGasH3Sps87y

D. About 5-30 and 5-10 u respectively

Answer: C

° Watch Video Solution

24. The opening and closing of stomata
depends upon the change in pH of guard

cells.This is observed by:

A. Loftfield

B. Sayre


https://dl.doubtnut.com/l/_RGasH3Sps87y
https://dl.doubtnut.com/l/_jUjkvb6ZDfWu

C. Von Mohl

D. Amstrong

Answer: B

° Watch Video Solution

25. Who did observe that stomata open in

light and close in the night:

A.Unger

B. Sachs


https://dl.doubtnut.com/l/_jUjkvb6ZDfWu
https://dl.doubtnut.com/l/_oP4iJ0qnqTwg

C. Boehm

D. Von Mohl

Answer: D

o Watch Video Solution

26. the phosphory enzyme in guard cells
supports the strach-sugar inter conversion

theory.The above reaction is:

A. Oxidation reaction


https://dl.doubtnut.com/l/_oP4iJ0qnqTwg
https://dl.doubtnut.com/l/_PBktnkvg1XyY

B. Hydrolyses reaction

C.reduction reaction

D. None of the above

Answer: B

o Watch Video Solution

27. Low pH and a shortage of water in th e

guard cell activate the stress hormone namely:

A. Ascorbic acid


https://dl.doubtnut.com/l/_PBktnkvg1XyY
https://dl.doubtnut.com/l/_DvBv8exShZbI

B. Malic acid

C. Abscisic acid

D. Salisilic acid

Answer: C

o Watch Video Solution

28. Accumulation ofCOy in plant cell during

dark:

A. Increases the pH level


https://dl.doubtnut.com/l/_DvBv8exShZbI
https://dl.doubtnut.com/l/_qczE4DZtagYX

B. Decreases the pH level

C. Does not alter pH

D.decrease inH * ion concentration

Answer: B

o Watch Video Solution

29. Phenyl Mercuric Acetate(PMA),When

applied as a foliar spray to plant:


https://dl.doubtnut.com/l/_qczE4DZtagYX
https://dl.doubtnut.com/l/_KqIJvtyxrK5r

A.Induce partial stomatal closure for two

weeks.

B. Induces partial stomatal opening for two

weeks

C. induces partial stomatal closure for four

weeks

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KqIJvtyxrK5r
https://dl.doubtnut.com/l/_7L3BOo2D4qne

30. The transpiration in plants is a'necessary

ecil" as stated by:

A. Steward

B. Sayre

C. Curtis

D. Meyer

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7L3BOo2D4qne
https://dl.doubtnut.com/l/_lTwriPbeRtfa

31. Sink in plants which receives food from

source is:

A. Tubers

B. Developing fruits

C.roots

D. All the three above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lTwriPbeRtfa

32. Activated diffusion theory was first

proposed by:

A. Fenson and Spanner

B. Mason and Maskell

C. Crafts and Munch

D. Hanes and Robert

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IOUtaOFyFaQl
https://dl.doubtnut.com/l/_2FJrg5nh1JRv

33. From siece elements sucrose s

translocated into sink organs such as

root.tubers etc and this process is termed as:

A. Xylem unloaing

B. Xylem uploading

C. Phloem unloading

D. Phloem uploading

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2FJrg5nh1JRv
https://dl.doubtnut.com/l/_cO1HQ8JUKVVR

34. In which plant ,the petioles are flatterned

and widened ,to become phyllode:

A. Asparagus

B. Acacia melanoxylon

C.Vinca rosea

D. Delonix regia

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cO1HQ8JUKVVR

35. Match

the following

(1) Opuntia

(a) Cladode

(i) Acacia

(b) Guttation

(1ii) Asparagus

(c) Phyllode

(iv) Alocasia

(d) Phylloclade |

A. i-b,ii-d,iii-a,iv-c

B. i-b,ii-c,iii-a,iv-a

C. i-b,ii-d,iii-a,iv-c

D. i-c,ii-b,iii-d,iv-a

Answer: C

o Watch Video

Solution



https://dl.doubtnut.com/l/_UhwnXDqVKeEv

36. Hydathodes are generally present in plants

that grow in:

A. Dry places

B. Moist and shady places

C.sunny places

D. deserts

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UhwnXDqVKeEv
https://dl.doubtnut.com/l/_64vZ2iqnGmtN

37. Ganongs potometer is used to measure:

A. The rate of photosynthesis

B. The rate of gaseous transport

C. the rate of water transport

D. The rate of transpiration

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Wn5SPxvYqyLk

38. Indicate the correct statement:

A. Anti-transpirants increase the loss of

water by transpiration

B. Anti-transpirants do not alter the rate of

transpiration

C. Anti-transpirants do not decrease the

loss water by transpiration in cross

plants.


https://dl.doubtnut.com/l/_XbgIlINr7pE6

D. Anti-transpirants reduce the enormous

loss of water by transpiration in crop

plants.

Answer: D

o Watch Video Solution

39. The liquid coming out of hydathode of

grasses is:

A. Pure water


https://dl.doubtnut.com/l/_XbgIlINr7pE6
https://dl.doubtnut.com/l/_n7EmX7WuHlrc

B. Not pure water

C.a solution containing a number of

dissolved substances

D. Salt water

Answer: C

o Watch Video Solution

40. A dry cobalt chloride strip,when

hydrated,turns:


https://dl.doubtnut.com/l/_n7EmX7WuHlrc
https://dl.doubtnut.com/l/_rrTtVCyF3uTV

A. White

B. red

C. Green

D. pink

Answer: D

° Watch Video Solution

Other Important Questions Answers li Answer

The Following



https://dl.doubtnut.com/l/_rrTtVCyF3uTV

1. What is the need for transport of materials

in plants?

o View Text Solution

2. What are the type of transport based on the

distance travelled by the marerials?

o View Text Solution

3. Define the term diffusion



https://dl.doubtnut.com/l/_9L63z3nsgMFb
https://dl.doubtnut.com/l/_flJpH6E0O1po
https://dl.doubtnut.com/l/_OiGy8yV6WaJX

o View Text Solution

4. Define the term semipermeable.

o Watch Video Solution

5. What is porin?

o Watch Video Solution

6. Define symport or co-transport?



https://dl.doubtnut.com/l/_OiGy8yV6WaJX
https://dl.doubtnut.com/l/_ZF3R0bGgoTpi
https://dl.doubtnut.com/l/_Az77fEl2azox
https://dl.doubtnut.com/l/_0ErS5l4etHmd

o Watch Video Solution

7.Explain the term counter transport.

o Watch Video Solution

8. What is the difference between co-transport

and counter transport?

° Watch Video Solution



https://dl.doubtnut.com/l/_0ErS5l4etHmd
https://dl.doubtnut.com/l/_mAf91OONovOr
https://dl.doubtnut.com/l/_OYyDY4JakKpd

9. What is imbibition ?

o Watch Video Solution

10. Give examples of imbibition.

o Watch Video Solution

11. Define osmotic potential

o Watch Video Solution



https://dl.doubtnut.com/l/_kK21c2qtjPMT
https://dl.doubtnut.com/l/_KKBoO53u4Qog
https://dl.doubtnut.com/l/_or3FWhPLE2TU

12. What is transpiration?

o Watch Video Solution

13. What is osmotic pressure?

o Watch Video Solution

14. Explain the term wall pressure exerted by

the cell well.

o Watch Video Solution



https://dl.doubtnut.com/l/_5yTdd5ZpSn84
https://dl.doubtnut.com/l/_PArcJQnVPcVP
https://dl.doubtnut.com/l/_1sTJ4RGICeMN

15. Define the term osmosis.

o Watch Video Solution

16. What is meant by isotonic solution?

o Watch Video Solution

17. Name the three types of plasmolysis

o Watch Video Solution



https://dl.doubtnut.com/l/_1sTJ4RGICeMN
https://dl.doubtnut.com/l/_dilCcyEtJSXX
https://dl.doubtnut.com/l/_ZPYAk4FB4nVv
https://dl.doubtnut.com/l/_cjWlmSO6VSYM

18. Explain briefly about root hairs.

o Watch Video Solution

19. Define active absorption.

o Watch Video Solution

20. Explain briefly the term

transpiration

stomatal



https://dl.doubtnut.com/l/_cjWlmSO6VSYM
https://dl.doubtnut.com/l/_XHjpn3LlHw32
https://dl.doubtnut.com/l/_CgWKaUHEXv2R
https://dl.doubtnut.com/l/_iyoOYsOo5YUI

o Watch Video Solution

21. Write the objections related to starch-

sugar interconversion theory?

° Watch Video Solution

22. Breifly explain plant anti-transpirants.

° Watch Video Solution



https://dl.doubtnut.com/l/_iyoOYsOo5YUI
https://dl.doubtnut.com/l/_i0exQ1GIrAd4
https://dl.doubtnut.com/l/_U3RJsv2pZSK8

23. Mention any two uses of anti-transpirants.

o Watch Video Solution

24. Define translocation of organic solutes.

o Watch Video Solution

25. Define the term lon-Exchange.

o Watch Video Solution



https://dl.doubtnut.com/l/_uvNboaLNuOEL
https://dl.doubtnut.com/l/_AQW22Dc6niTA
https://dl.doubtnut.com/l/_26nOTguDFcSJ

Other Important Questions Answers lii Answer

The Following

1. What are aquaporin ?

o Watch Video Solution

2. Write a note on carrier protein.

o Watch Video Solution

3. Define osmotic potential


https://dl.doubtnut.com/l/_ILddmzIaMRpw
https://dl.doubtnut.com/l/_qzD40E8ZfpVd
https://dl.doubtnut.com/l/_PXENn86V4oTr

° Watch Video Solution

4. Explain the types of osmosis.

° Watch Video Solution

5. Explain osmosis with the demonstration of

potato osmoscope.

o Watch Video Solution



https://dl.doubtnut.com/l/_PXENn86V4oTr
https://dl.doubtnut.com/l/_c4niJLSfHteM
https://dl.doubtnut.com/l/_pMOgCGMDxcoy

6. What is reverse osmosis?

o Watch Video Solution

7. Give details of symplast route of water

movement.

o Watch Video Solution

8. Describe the non-osmotic active absorption

theory proposed by Bennet-Clark in 1936.



https://dl.doubtnut.com/l/_UiKS1nEMDqbT
https://dl.doubtnut.com/l/_4qILQcdR0l8i
https://dl.doubtnut.com/l/_uIxFQncQoFGJ

o Watch Video Solution

9. Mention the objections to vital force theory

of Ascent of sap.

° Watch Video Solution

10. Explain the capillary theory of Boehm

(1809).

o Watch Video Solution



https://dl.doubtnut.com/l/_uIxFQncQoFGJ
https://dl.doubtnut.com/l/_dhEH67MtP5d2
https://dl.doubtnut.com/l/_Ad65yGaVUSkw
https://dl.doubtnut.com/l/_lPPT1sXODa91

11. Give a brief account of Lenticular

transpiration.

o Watch Video Solution

12. Explain the theory of photosynthesis in
guard cells obeserved by Von Mohl with its

demerits.

o Watch Video Solution



https://dl.doubtnut.com/l/_lPPT1sXODa91
https://dl.doubtnut.com/l/_kr7554dV2E4X

13. What are the three types of wilting in

plants?Explain them breifly.

o Watch Video Solution

14. Guttation - Explain.

o Watch Video Solution

15. What are the significance of transpiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_y9UZl62CNkKW
https://dl.doubtnut.com/l/_Dj7jh3nZyeQy
https://dl.doubtnut.com/l/_UysZemvA1qko

16. What do you understand by the term

source and sink in plant physiology ?

o Watch Video Solution

17. Why plants transport sugars as sucrose

and not as starch or glucose or fructose?

° Watch Video Solution



https://dl.doubtnut.com/l/_UysZemvA1qko
https://dl.doubtnut.com/l/_ym0syHXsDTEO
https://dl.doubtnut.com/l/_aQRR8c2oMiQJ

18. What do you mean by Phloem loading ?

o Watch Video Solution

19. Explain the term Donnam equilibrium.

o View Text Solution

Other Important Questions Answers Iv Answer

The Following



https://dl.doubtnut.com/l/_FaU8o66MY8fI
https://dl.doubtnut.com/l/_mgPqvMWyc9CI

1. Define the term osmosis.Give details of the

types of osmosis in plants.

o Watch Video Solution

2. Give an account of active absorption

theories with their demerits.

o Watch Video Solution



https://dl.doubtnut.com/l/_VuZAzdtAHeAs
https://dl.doubtnut.com/l/_oevnyBFNtGZI

3. Explain in detail about the cohesion tension

theory proposed by Dixon and Jolly (1894).

o Watch Video Solution

4. Describe the theory of K transport theory

of stomatal opening.


https://dl.doubtnut.com/l/_cbML4CdJMVXw
https://dl.doubtnut.com/l/_ZiWlN9nHhk9I

o Watch Video Solution

5. Give an account of external factors affect

the rate of transpiration.

° Watch Video Solution


https://dl.doubtnut.com/l/_ZiWlN9nHhk9I
https://dl.doubtnut.com/l/_gdnkS6K6xydn

6. Describe the method of Ganongs potometer

to measure the rate of tranpiration.

o Watch Video Solution

7. Explain Munch mass flow hypothesis and its

applications to plants.

° Watch Video Solution



https://dl.doubtnut.com/l/_gdnkS6K6xydn
https://dl.doubtnut.com/l/_w5a4T0MT0By8
https://dl.doubtnut.com/l/_sDb17iHWdaKI

8. Describe Lundegardh's Cytochrome Pump

Theory .

o Watch Video Solution

Solution To Activity

1. Imbibition experiment :

Collect 5 gm of from from Drumstick tree or

babool tree or Almond tree.lmmerse in 100ml


https://dl.doubtnut.com/l/_O4qZ1v2TYb4W
https://dl.doubtnut.com/l/_A52iIlXj40GP

of water .After 24 hours observe the changes

and discuss the results with your teacher.

° Watch Video Solution

2. Find the role of turgor pressure in sudden
closing of leaves when we touch the touch me

not plant.

° Watch Video Solution



https://dl.doubtnut.com/l/_A52iIlXj40GP
https://dl.doubtnut.com/l/_L7jdGKOeDLfn

3. Select a leafy twig of fully grown plant in
your school campus .Cover the twig with a
transparent polythene bag and lie the mouth
of the bag at the bae of the twig.Observe the
changes after two hours and disscuss with

your teacher.

o Watch Video Solution

4. What will happen if an indoor plant is

placed under fan and AC?

| & I


https://dl.doubtnut.com/l/_ENZLbK3PNWom
https://dl.doubtnut.com/l/_YZw13PgTp8b1

| ¥ Watch Video Solution



https://dl.doubtnut.com/l/_YZw13PgTp8b1

